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- 7.6 Water sloshes back and forth in a tank as shown in Fig.
- P7.6. The frequency of sloshing, w, is assumed to be a function -
~. of the acceleration of gravity, g, the average depth of the wa-
~ ter, A, and the length of the tank, €. Develop a suitable set of .
- dimensionless parameters for this problem using g and € as re-
... peating variables. '
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B FIGURE P7.6

g

pi theortm, H-2=

'?Parmveié;k,sﬂ@59,!?64 . Use j?:::,,.‘,d,fn?f £

2 dim

)
- Sy
~— —

“a—
=

5

L

as

ensionless -

5

Leats

-1, and

Eant

dimensionles

o

=
i

L)
)
nd 7;»;,%” i

3

ok

vvvvv

Therefore

5y

-




